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BYAPAY ABCD oA A2 BESH A2 DF - A E D

7} /B 9} /D 9] o] 5B W, BFD o] I XbO'
7129
B F

D 60° @ 80° ® 100°
@120° ® 140°

B ~

AHZFE ABCD 7} HiAEE 0|22 /BAD + /ABC = 180°
/ABC = 2/EBF ©]|E2 = /EBF = 60° ©|t}.

AtZtd BFDE &= H A E 0|22 /EBF + /BFD = 180°
. /BFD = 120°




- %] DABCD = BAAMF o] T
AD — 2AB, FD — DC — CE olt}. AE %
BF o 2e P 2} & o, ,APB ©] 2715
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> ®g: 90°
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(BAP = /AEF (%1Z}) o], AD = DE °]E2 2 /AED = (EAG
ojt.
¥, /ABP = /BFD (%1Z})o]1, BC = CF °]|2& /(FBC =
/BFC o]t}

/A + /B =180° °|22 /ABP + /BAP = 90° ©]1, /APB =
90° oJtt.
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8. AABC 9 Ho)7F180cm?2 o] BD : DC=1:2,AE: ED=2: 3
o o, AAEC 9] WelS Fatef=t.
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